ORIGINAL

LAW OFFICES

ROSE, SUNDSTROM & BENTLEY, LLP

2548 Blairstone Pines Drive TALLAHASSEE, FLORIDA 32301

FREDERICK L. ASCHAUER, JR. CHRIS H. BENTLEY, P.A. ROBERT C. BRANNAN DAVID F. CHESTER F. MARSHALL DETERDING JOHN R. JENKINS, P.A. STEVEN T. MINDLIN, P.A. CHASITY H. O'STEEN DAREN L. SHIPPY WILLIAM E. SUNDSTROM, P.A. DIANE D. TREMOR, P.A. JOHN L. WHARTON

WAYNE L. SCHIEFELBEIN, OF COUNSEL ROBERT M. C. ROSE (1924-2006)

(850) 877-6555 FAX (850) 656-4029 www.rsbattorneys.com

REPLY TO CENTRAL FLORIDA OFFICE

CENTRAL FLORIDA OFFICE SANLANDO CENTER 2180 W. STATE ROAD 434, SUITE 2118 LONGWOOD, FLORIDA 32779 (407) 830-6331 FAX (407) 830-8522

MARTIN S. FRIEDMAN, P.A. VALERIE L. LORD BRIAN J. STREET

November 14, 2006

HAND DELIVERY

Ms. Blanca Bayo Commission Clerk & Administrative Services Director Florida Public Service Commission 2540 Shumard Oak Boulevard Tallahassee, FL 32399

Docket No.: 060257-WS; Cypress Lakes Utilities, Inc.'s Application for Rate Increase in RE:

Polk County, Florida Our File No.: 30057.113

Dear Ms. Bayo:

Enclosed for filing in the above-referenced docket is the supplemental response of Cypress Lakes Utilities, Inc., to Staff's Fifth Data Request dated October 27, 2006:

The following questions are regarding customers' concerns which were expressed at the 2.

	custon	ner meeting:
CMP COM CTR	a)	Please explain why the utility is flushing lines for extended periods of time. In addition, provide all flushing data sheets from January 1, 2005 through October 20, 2006.
ECR RESP	ONSE:	Please refer to Exhibit 2(a) attached hereto.
GCL		
OPC		
RCA		
SCR		
SGA		DOCUMENT NUMBER -

DATE

10442 NOV 148

EPSC-COMMISSION CLERK

Ms. Blanca Bayo Commission Clerk & Administrative Services Director Florida Public Service Commission November 14, 2006 Page 2

Should you have any questions regarding this filing, please do not hesitate to give me a call.

Very truly, yours

VALERIE L. LORD For the Firm

VLL/mp Enclosures

cc: Katherine Fleming, Esquire, Office of General Counsel (w/o enc.) (via hand delivery)

Mr. Troy Rendell, Division of Economic Regulation (w/enc.)(via hand delivery)

Mr. Jay Revell, Division of Economic Regulation (w/o enc.) (via hand delivery)

Ms. Cheryl Bulecza-Banks, Division of Economic Regulation (w/o enc.) (via hand delivery)

Ms. Frances Lingo, Division of Economic Regulation (w/o enc.) (via hand delivery)

Mr. Gerald Edwards, Division of Economic Regulation (w/o enc.)(via hand delivery)

Ms. Sonica Bruce, Division of Economic Regulation (w/o enc.)(via hand delivery)

Steven M. Lubertozzi, Chief Regulatory Officer (w/enc.)(via U.S. Mail)

Kirsten Weeks, CPA (w/o enc.)

John Hoy, Regional Vice President for Operations (w/o enc.)

Patrick C. Flynn, Regional Director (w/enc.)

Mr. Frank Seidman (w/o enc.)

Stephen Reilly, Esquire, Office of Public Counsel (w/enc.)

M:\1 ALTAMONTE\UTILITIES INC\CYPRESS LAKES\(.113) 2005 RATE CASE\PSC Clerk 13 (Data Request 5 - supp).ltr.wpd

20 d

11/01/2006 10:28

12/28/2005 12:07

%26

18638151524 4078596961

SEPTEMBER

6. 749

0,015 0,121

AUGUST YAUL JUNE 7

4,963 2.080 7. 410

NOVEMBER

OCTOBER

10,068

0410

DECEMBER

1363638764 CYPRESS LAKE

FEBRUARY

ための

0.258

MARCH

APRIL

8,810 8,332

8000 %

.043

8.401

460 0

154

0.000

JANUARY

5.959

0,293 Flushed

Month

Total Month

Total

큠

1. 18.18

Volume

2006

UTILITIES INC OF FL

72-500P 16:36 01/02

PAGE 82/82

2006 Total Water Pumped/Wastewater Flow Data

TO: OPERATIONS

Facility Name Cypress Lakes Utilities, Inc.

Submitted by: Bauld E Shaffstall

OF EACH MONTH. THANK YOU!

please fill in the information below and send to leah by the 3RD working day

ATTN: LEAH

FAX: 407-869-5981

* THE YEAR TO DATE (YTD) COLUMN IS OPTIONAL, IT'S THERE FOR YOUR REFERENCE

Total** 0.146 A. 4. 3. 4. 8 0.109 Avg. Daily 0.107 0.103 0 1/2 0.136 0.106 0.110 0.100 Flow Peak Cally 0 00140 0.165 0.181 0.139 0-111 0.130 00146 Flow 125 દ્ર

UTILITIES INC OF FL GARTH A

PAGE 03/17 PAGE 82

18638151524 04/06/2005 07:55

CYPRESS LAKE

PAGE 02/03

WATER LOSS RECORD

Include Sevice Line and Main Breaks, Hydrant Exercise and Flushing

SYSTEM/SUB#: Cypress hore MONTHYEAR: 106

PATE	SIZE	(MAR)	FLUSHING! BREAK TIME	ESTRAA	TE TOTAL	
	Sicci		(Milk)	RATE	GALLONS	LOCATION OF FLUSHING OR LINE BREAK
1	ļ.,			L		The state of the s
2						
		-				
4	<u> </u>					
7		7				
	2	5				
				-	10000	Sandgrans / With Blove offs
	1"	15			4 60	Fye wooh wwip
		1				9 400112
11						
12		1			 	
		+				
18		 			1	
		 -				
15						
58	ã.5"	2		./	10,000	
+7				Y	170,000	Mulligen Ar.
	~1 ~				h	
15	2	5		~ <u>\</u>	8800	Ultra Blow OFF The OFF
19					IT	The same of the sa
20	20	5			10,000	A · ·
21				-	10000	Mulligan Ar Blow OFF
	,	.5				
32		2		<u>i/</u>	50	Eyewash wwip
24						
25						
28				-	-	
27		-				
28	2	5		\sqrt{I}	8,000	Mulliana Al
20		1			-	Mulligen Blow Off
	8	4				
-columbia	· Z			. 1	60 (4	Marton Change Oass

Form Modified 1/30/04

אם פ

Files &

4078696961

02/03/2006 11:18 18638151524 CYPRESS LAKE

PAGE 04/17

PAGE 04/05

WATER LOSS RECORD

Include Sevice Line and Main Breaks, Hydrant Exercise and Flushing

SYSTEM/SUB#: Cypress Lakes /672 MONTHIYEAR: Jan 12000

0.4~		TYPE	FLUSHING! BREAK TIME	ESTIMATE	TOTAL	
DATE	SIZE	balow)	(MIN)	RATE	GALLONS	LOCATION OF FLUSHING OR LINE BREAK
1					1	
2	}					
3						
		 				
4		1,,			ļ	
5	2"_	2/5			62000	Distrubution Aushing plan
5						
7						
8						
		-				
θ						,
10						
11			1			-
12	_	2			18430	11 1728G A A A A A A A A A A A A A A A A A A A
		 			(CHAI	Hydrant Certification (XBH); Ultra 8/0
13	,	 				
14						
15						
16	_	2	_		127700	Hodan to P. O. C. Carres
1	2"	2/5			13,750	Hydrant Certification (KBH) Hydrant Certification (KBH); WENT BIO 15000
17	<u> </u>	75		 +	63060	Hydrark Cortification (KBH): WENT BID
18		-				
19						
20						
21	111				~	
		-	-			
22						
23						
24						
25	2"	5	/20	100	12000	WWTP BIO
26						
27						
28					1	
29	}			T.		
, 1						
30		 -				
31/						

Type Code

- Water breaks
 Flushing hydrants
- 3) Meter defect
- 4) Construction 5) Other

293190

Form Modified 1/30/04

File: Flushing & Water Loss Record

ロフツ

Include Sevice Line and Main Breaks, Hydrant Exercise and Flushing

SYSTEM/SUB #: Croress Lakes 1672 MONTHYEAR:

DATE	SIZE	TYPE (see balow)	FLUSHING/ BREAK TIME (MIN)	ESTIMATE RATE	TOTAL GALLONS	LOCATION OF FLUSHING OR LINE BREAK
1	2"	2/5		_	14000	
2						
3		1				
4						
5						
7						
	Z"	3/5		-	27300	See Water Flushing Log
10					***	
		ļ				
12		↓				
14	-					
14		1			8400	0, 15
15	2"	5	70	120		Complaint on Ultra Blowoff - VIta
15	2"	7/5-	90		46730	See white Finshing Log
17	Z*	2	70	120	10800	WIF BU
		-				
19			· ~			
20	2"	2/5			49750	See Water Flushing Log
21		3	-		7800	1221 Grackle Loop
72					,,,,,,	
25 24						
25	,	3			8500	9552 (ypress Lakes Dr
25		3			500	9346 Housier Circle
27	2*	2/5	_			See Water Flyshing Lon
28					2300	9575 Cypress Lates Dr
20	2	3/5	-	-	16000	See Water Flushing Log
30						
31						

Type Code

- Winter breaks
 Flushing trydrante
 Meter defect
 Construction
 Other

220,880

Form Modified 1/30/04

File: Flushing & Water Loss Record

PAGE 02/03

CYPRESS LAKE

18638151524

QQ*/

0) (3) (3) (4) (4) (4) (4) (4) (4)

LOCATION OF ELISHING	JATOT	ESTIMATE	FLUSHING! BREAKTINE	
	:ЯАЭМНТ	IOM		
550/2010 2200M	EWSUB *	LSAS		
g, Hydrant Exertise and Flushing	lesia nieM l	bon bine and	luchide Sev	

	08 L19)	etasib S	Webs bress Plushing hy Webs defer Construction Other	() (e (Z
				7		ILE .
		1		1		3€
Mother Flushing Loa	25 00091			5/2	18	6Z
				1		28
E WALET FILED COST	७८ १०७८ ६		 	-5/2	×2	LZ.
				1		BE
		1				ŞZ
						54
	L					ęş
						22
England - Advi a	PS OSCH			-5/2	1.7	15
						02
						5L
						ar
08 9TW	000001	021	96	2	$_{n}Z$	21
हिंद्रा की प्रमुखा अभवता अव	ड ०६८१ स	_		-5/2	nZ	gī
appliest on Ultree Blowatt - Ultra	9 0018	021	04	_5	"Z	SI
		,				\$1
_						er
						Sr
						lî.
						lor
						ē
ee Worker Flushing Log	e 00872			-5/2	"Z	ß
						1
					· <u></u>	0
						ç
						•
						¢
						2
gat evident stald so		_		392	3,,	
LOCATION OF FLUSHING OR LINE BREAK	GALLONS	3TAR	(NIM)	(MOISO	SIZE	31Ag

File: Flushing & Water Loss Recont

AUTOCAT DefiboM mmo7

CYPRESS LAKE

PAGE 02/03

NOA-13-5006 16:37

ם שכ

18638151524

PAGE 02/03

WATER LOSS RECORD

Include Sevice Line and Main Breaks, Hydrant Exercise and Flushing

SYSTEMSUB#: Cypress Lake /672 MONTHYEAR: Nov/2005

DATE	9 25	(566 (56cu)	FLUSHING) BREAK THAR (MIN)	ESTIMATE RATE	TOTAL GALLONS	LOCATION OF FLUSHING OR LINE BREAK
	1'2"		200	500	100,000	
<u>z</u>	2"	2	30	60	1500	2158 Horseshoe Dr
3	2"	2	190	50	6000	Hydrunt Q Moorhest ; Hydront & Grockle
4		ļ				
5						
				· · · · · · · · · · · · · · · · · · ·		
	2"	1/5			19950	see back / Whiter Flushing log
В	2"	3/5			52800	Water Flushing log
9		-				
10		-				
11						
12	2"	5	30	80	2400	2364 Milligan
13	2"	1 3	60	1000	6000	Blow of WWTP
- 14						
15	2"	26			A	
18		3/5			18850	Water Flushing Log
17	Zil	2/5			14400	.2.4
18	<u> </u>	75			14400	Poter Flushing Log
19						
20						
21					-	
22	2"	3/5		_	17900	
23		-		-	,	Water Flything 109
25	2"	3/5			15950	Water Flushing log
28		~~			-0 -0	Water Clastrag 100
27		- 	<u> </u>			
28						
		-				
30	2 *			-	11450	Water Flushing log / Line Break in phase 10
31					···	Water Chisting 199 / Clare oreals in front

<u> Tvna Code</u>

1) Water branics

Chushing hydrants
 Motor defect
 Construction
 Other

Form Modified 1/30/04

File: Flushing & Water Loss Record

262200

D 177

97%

Include Savice Line and Main Breaks, Hydrant Exercise and Flushing

SYSTEM/SUB # Cypress Lake /672

MONTHYEAR: Oct / 2005

1	1-1/2"	1	420	120	50,400	9579 Cypress Lakes Blud
2	2 "	1	330	2.00	66,000	Utira Drive
3	ZH	2/5	4.4.	80-100	132440	See Back
4	21	3/5	_	100-120	2/2900	see Back
5	2"	2/5	_	60-120	368200	See Back
6	Z"	2		100	56500	See Back
7	2"	2/5	-	50-100	77650	Sce Back
В	2"	2	1440	30	43200	Phase 8 Hydrant
P	2"	2	1440	3 Ø	43200	Phase & Hedrant
10.	2 "	2	1440	30	45200	Phase 8 Hidrant

L	_101	L	-	_1440			Press of the state
	11	2"	2/5		(00	64400	See back
	12	2"	2	1440	30	43200	Phaic & Hydrant
	13	14"-Z"	45	-	5-100	74550	See back
Γ	14	% "- 2"	3/5	360 FZ	5-30	28800	
Γ	15						
	18						
	17						
	7.8	2"	3/5	40	50	2000	Checked etr res throughout system 15t
	19						
	20						·
	21						
	22						
	23			,			
	24						
	25		₹/5	රුව	5 c	3000	Circlined cla ves throughout sustem 12+
	26						
	27						
	28		1				

Tyme Code 1) Water breaks

2) Flushing hydranis

3/5

90

50

3) Meter defect

4) Construction 5) Other

2"

31

1,270,940 gallons

Checked CC2 105

Form Modified 10/20/03

File: Flushing & Water Loss Record

4500

97%

throughout distrubution system 1.0+

FLUSHING & WATER LOSS RECORD

Include Sevice Line and Main Breaks, Hydrant Exercise and Flushing

DATE 1 2 3 4 5 6 7 8 9 9	2" 2" 2" 2" 2"		STOPTIME	(MIN)	100	10,000	Phase 8 hydrant at pand
2 3 4 5 6	?" ?"			100	100	10,000	Phase 8 hydrant at pund
3 4 5 6 7	2" 7"					1	
4 5 6 7	2" 7"					1	
5 6 7	2" 7"					1	
7	74			120	100	1	
8	2" 2"					12,000	24.31 Sandovane Was off
8	2"		l				
9	2"	i		100	60	6,000	Phase 8 hydrant as pond
				100	80	8 000	Phase 8 hydrant as pond Phase 8 hydrant @ pond
10							
11						ļ	
12							
13	2 2"			40	100	4,000	Sandcrane blow-off
14				33	120	3960	Mourhen, Top Flight
15	2"			(-0)	140	6000	Mourhen, Top Hight
16	2 +			60	160	6000	WWTP
17		+					
18	2"	-		0,-		A ()	
	2"			25	100	2,500	Mulligan Han-Eft
	2"				100	700	CYPTER (FOSS # 34
	4			12	120	1440	Pegvine Circle
22							
23							
24							
25							
26	7"			770	100	72665	0141
	*			720	100	72000	Phose 8 hydranta food
28		-					
29				-			
30				м.			

File: Flushing & Water Loss Record

ロワケノ

include Sevice Line and Main Breaks, Hydrant Ex Ircise and Flushing

SYSTEM/SUB#: Cyprss lake Aug / 2005 MONTHYEAR:

				1410		·		- Janya	-			•		
			rajevi. Podalje	ا مراجع دورو العراجي	de esperante					ogs				
1		<u> </u>				1								
2														
3		1				-								
	Z"	4/5	T		39600	See	hack	4	و لمارو	r Loos	Dana	1	SL-1	
		1			41700	- JCE	U COLOR	<u>, , , , , , , , , , , , , , , , , , , </u>	u mee.	LOGS		1	R.S.	
3		+			7.700									
<u> </u>		 			-	 			<u> </u>)-FI (\$1004		
7		-	-			-								
B	 	 		 		-						,		
3			<u> </u>										 	
10	716													
11	2"	1/5			38600	See t	ack.							
12		-	<u> </u>				·							
13														
24		ļ												
15													•	
18														
17												· · · · · · · · · · · · · · · · · · ·		
78														
19														
20	2"	3/5	90	200	18000	2509 S		Mul		Sto Sands		. Elmb	m+ 104	tra
21					700	23-7-	7		30.7	7		4.2	- /	
32														
23														
24	2*	2	35	250	8750	7500		(lie						
25				-3-	8,,,_	2309	<u> </u>	11947	-				·	
										·				
26														
27														
28												+		
168														
30													-	
31												,		

- Tyme Gode 1) Weter breaks
 - 2) Flushing hydrents
 3) Meter defect
 4) Construction
 5) Other

107050

Form Modified 10/20/03

File: Flushing & Water Loss Record

4078696961

FLUSHING & WATER LOSS RECORD

612

Include Sevice Line and Main Breaks, Hydrant Exercise and Flushing

SYSTEM: YPIESS Lakes
MONTHMEAR: July 2009

	1019 2007										
DATE	SIZE	STARTITIME	STOP TIME	FLUSHING/ BREAKTIME (MIN)	ESTIMATE RATE	TOTAL GALLONS	LOCATION OF FLUSHING OR UNI				
1											
2											
3											
4											
5											
6											
7											
8											
9											
10											
11											
12						ļ					
13											
14											
15						100,000	Flow Motor at Well # 2				
16											
17											
18							,				
19											
20											
21	+										
22											
23											
24											
25											
25											
27											
28											
29											
30											
31											

File: Flushing & Water Loss Record

6)2

Include Sevice Line and Main Breaks, Hydrant Exercise and Flushing

SYSTEMSUB# Cypics late 1672 MONTHYEAR: July

				11101	4 (124) (22-14-4)			1 (19)
							<u>۔</u>	
1								
	······································							
2		-						
3								
4								
5	7 "	-	30	100	2500	ad out on a	4 46 1	:4 2126 Cyperes Cross
9	2"	2	25	100	37750	Son	<u> </u>	c of Water Loss Record
7	2"	2/5						
	2"	75		-	47250			
9	2"	5	30	150	4500	2409	- Se	end crone
10	2"	5	45/30	15/250	7500/14250	9405	Maid.	neant
11	2"	5	30/1020	150/250	2730 7500/14250	Hote :	<u> </u>	ton 1900 How Bly Cours
12	, pe	16 19	11 H	pt pt	10 11	. "		' '
13	2"	3/5	240	250/100	26500	ZMOU SO	anice LA	28
14		5	30	150	4500	2809	Mul	igen
15								
16								
17								
16	· ···········	1						
		 					_	
19					 			
20	2"	3/5			19500	See		- Je
21	2*	5	25	200	7000		_125 S 6/a	hud*
		3	A5	200	7000	(Gran	-	744
23		 			 			
26		<u> </u>			 			
25		2/	ļ		110000		 -	and the second s
26	2"	24			149000	See	_k u	ic IC
27		<u></u>						
28					<u> </u>		<u></u>	
29								
30								
31								,
		-		·			==	

- Data Sode 1) Water breaks
 - 2) Flushing hydrams
 - 3) Meter detect
 4) Construction
 5) Other

416250

Form Modified 10/20/02

Post-it* Fax N /te 7671 To Jackie Fax # Fax #

File, Flushir

61)

Include Sevice Line and Main Breaks, Hydrant Exercise and Flushing

SYSTEMISUB #: Cypress Lakes

MONTHYEAR: June 2005

				V. T. C.				
	*		Section 19					
					. (1) 	<u>, , , , , , , , , , , , , , , , , , , </u>		
	2,		Zomins	100 gals	2000 7 HOOC	SYDE SONS	rocn.	ne Zanae Cf
2	2-	2	20-mins	100 guis	10000	1211	ALGE !	
3								
- 5					1200	2162 (4 266	ss (ross - defective neter
В			2+ -	100 16	6000			
7	2"	2	30mins	loDgals		2409 Sa-	e.	swine Tri
B	3/4	2	30mins	12.5gals	3/3			
9								
10							-	- //
11								
12								
13					-			
14						06.4		To design to
15				<u> </u>	4700	4594	HP4	ress Tree- defective meter
18								
17			<u> </u>		ļ <u></u>			
18				<u> </u>	ļ			
19					<u> </u>			and the second s
20					-	2401 So		o et.
22		2	20 mins	100gals	2000			
32	Ž.	2	20 mins	1000015	250 52250		2.4	Genuine Tel
23	2"	2	Bomins	180 gals	3000	9890 G	77 C. 1	16
24				-				
25					-	ļ		
25								
27								
28				ļ			- -	
55								- Park
36								- All Control of the
. 31								11 23 4

Type Code

- 1) Water breaks
- 2) Flushing hydrents
- 3) Meter defact
- 4) Comstruction
- 5) Other

Total - 25525 gals

Form Modified 10/20/03

File: Flushing & Water Loss Reck at

Josh sie Ossies I lan I teals	Dunnlen	laber starmer.	Paradan and Chaldra
Include Baylon Line and Main	HIMBKS.	PIVOTAIN '	EXENSES AND FILEDING

SYSTEMBURE 672 Cypress Lakes MONTHYEAR: ___ TVPE FLUENKVGV (Non BREAK TIME BRIGHS MURIN (Man Delow) ESTIMATE RATE TOTAL GALLONS DATE 6/25 LOCATION OF FLUBHING OF LINE BREAK *-See back υf for Elushian * Water Re ord Loss 17 * back Reard For Water زوما Flushing it 20 2 Z 20 2409 Sunderane 20 2409 Senderage Type Code 1) Water breaks 31.100 2) Flushing hydrania 2) Motor defect 9 Construction 0) Cities + nisoo Stuck Meter Form Madifies 1/20/04

File: Phishing & Water Loss Recor !

Include Sevice Line and Main Breaks, Hydrant Exercise and Flushing SYSTEM/SUB #:

					SYS	TEM/SUB#	: <u>Cyp.</u>	ددے۔	hakes	67	<i>i</i> 2
٠,٠	<i>r</i>				MO	NTHMEAR	Cyp.	-//	105		
	DATE	SIZE	(see			T		- P an	,	SHING OR LIVE BR	EAK
		1	+	+			-	- ——-	<u></u>		
	3		1				 				
	—	1	1	+	<u></u>		+	. ———		1 Physip	
	5	5		†		-	1 .				W
	В			1			-			4 7A 41-2	
ĺ	7	1								*************************************	
	8									. 4)-1	
	9	<u></u>									
ļ	10										,
	11	ļ									
	12					ļ—					
1						· · · · · · · ·					
]	14		+	 		,					
ł	15	1									
1	16	<u> </u>	+				 				
T	17		-	1	-		-	. ——		معنظرين وحوار ويستنسب فالدرارية والمعروب	
Ì	19			1							
	20										
	21									···	
	22										
1	23										
1	24										
ļ	25	2in	2	<i>5</i> 0		2,000	2489 S	mder	20 -8	(Sanderane	Blow off)
1	28		1								
-	27										
F	28	2in	2	60		2,000	2409 Sai	dera	ne	(Sanders ne	Blow off)
F											
F	30		-								-
L	31										

- Type Code 1) Water breeks 2) Flushing hydrents 3) Meter defect

 - 4) Construction 5) Other

Form Modified 1/30/04

File: Flushing & Water Loss Record

98%

PAGE 15/17

FLUSHING & WATER LOSS RECORD

672

Include Sevice Line and Main Breaks, Hydrant Exercise and Flushing

SYSTEM: Cypies, Lakes
MONTHYEAR: March 2005

3	None Sagrand Comme	La seguina de la companya de la comp	T 2 1 1 1 22 1 1 1	TELLINGUING)	Te 9. 4	T	F. 70
		START TIME		BREAK TIME	ESTIMATE	TOTAL GALLONS	LOCATION OF FLUSHING OR LINE BREAK
DATE	SIZE	STARTIME	STOP TIME	(MIN)	RATE	GALLONS	BREAK
1				<u> </u>			
2							
3				 	<u> </u>	ļ	
4						ļ	
5						-	
6							
7							
8							
9						 	
10						<u> </u>	
11	3/4			60	20	1200	WWTP backflow preventor
12							
13					· · · · · · · · · · · · · · · · · · ·		
14							
. 15							·
16							
17							
18							
19							
20							,
21			Ì				
22				-			
23							
24							
25							
26							
27							
28							
29					-		
30							
31			l				

File: Flushing & Water Loss Record

NOV-13-2006 16:39 4078696961 97%

Include Sevice Line and Main Breaks, Hydrant Exercise and Flushing

MILE OUR MINE IN CHECKE!			/	
SYSTEMSUB#:	Cypress	Lakes /	673	
G.G. Listopo H.				
MONTH/YEAR:	Tan	05		

		TYPE	FLUSHING BREAK TIME			
DATE	SIZE	(see	BREAK TIME (MIN)	ESTIMATE RATE	TOTAL GALLONS	LOCATION OF FLUSHING OR LINE BREAK
1						
2						,
3						
4						
5						
6						
7						
В						
D				,		
10						
12	8	a	4000.00		3000	End of Big Cypiess Blad
13						
24						
15						
16						
17						
18						
19				, , , , , , , , , , , , , , , , , , , ,		
20						
21	3"	2	20 mins		1500	Cul de sak Spatterdock
22						
23						
24						
25						
30						
27			_			
★ 28	2"	35	40 mins		3000	End of Big Cypress Bluck
29						ٽ <i>ٽ</i>
30						
31						

- Type Code 1) Yvater breaks 2) Flushing hydrants 3) Mater defact

 - 4) Construction 5) Other

Form Modified 1/30/04

File: Flushing & Water Loss Record